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* T test

Group Statistics

Std. Std. error
Process N Mean Deviation Mean
Chlb Grs 3 | 144710 | .0193578 0111763
Whs 3 020846 | .0046331 0026749

Indepentdent Sample Test

Levene's Test for Equality of Variance t-test for Equality of Means

Mean Std.Error | 95% Confidence Intervalof te diference.
F Sig. T df Sig.(2-tailed) | Difference | Difference Lower Upper
Chlb  Equal variances assumed 3.167 150 10.778 4 000 | 1238642 | .0114919 | .0919575 | 1557708
Equal variances not assumed 10.778 2.228 .006 | 1238642 | .0114919 | .0789710 [ 1687574
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+ T test

Group Statistics
Std. Std. error
Process N Mean Deviation Mean
Chiab  Grs 2 [ 3.038496 | .0104642 10073993
Whs 2 | 637751 | 1249520 0883544
Indepentdent Sample Test
[Levene's Test for Equaity of Variance t-test for Equality of Means
Mean St Error | 5% Contdence ol of e derence
F sig. T o Sig.(2-tailed) | pifference | Difference Lower Upper
Chia/b  Equal variances assumed| 2. 662E+18 000 | 27.077 2 001 | 2.4007449 | .0886637 | 2.0192559 | 2.7822340
Equal variances not assumed 27.077 1.014 023 | 24007449 | 0886637 | 1.3103308 | 3.4911590
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* Ttest

Group Statistics

S@. Std. error

Process N Mean | Deviation Mean
Carotenoid _ Grs 3 | 090666 | 0076807 10044402
Whs 3 | 004143 | 0023868 0013780

Indepentdent Sample Test

Levene's Test for Equaity of Variance t-test for Equality of Means
Mean Std.Error | 95% Cankdance v o o ifrnce
F sig. T o Sig.(2-tailed) | pifference | Difference Lower Upper
Carotenoid Equal variances assumed| 4423 103 | 18610 4 000 | .0865229 | .0046491 | .0736148 | .0994310
Equal variances not assumed 18610 2382 001 _| .0865229 | .0046491 | 0692983 | 1037475
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= T test

Group Statistics

Std. Std. error

Process N Mean Deviation Mean
Totalchl ~ Grs 3 | 584358 | .0790435 10456358
Whs 3 | 036116 | .0034423 0019874

Indepentdent Sample Test

Levene's Test for Equality of Variance

t-test for Equality of Means

Mean Std.Error | 95% Confidence Interval of the difference
F Sig. T o Sig.(2-tailed) | pitference | Difference [ Lower Upper
Total chl - Equal variances assumed 5.464 .080 12.002 4 000 | .5482421 | .0456790 | 4214168 | 6750674
Equal variances not assumed 12.002 2.008 .007_| 5482421 | .0456790 | 3524111 | .7440730
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Group Statistics

Std. Std. error
Process N Mean | peviation Mean
Chla Grs 3 | 439648 | .0596869 .0344602
Whs 3 | 015270 |.0013474 .0007779
Indepentdent Sample Test
Levene's Test for Equaity of Variance t-test for Equality of Means
Mean Std.Error | 95% Confidence Interval of he diference
F sig. T df Sig.(2-tailed) | Difference | Difference [ Lower Upper
Chla  Equal variances assumed 5.792 074 12312 4 .000 4243779 | .0344690 | 3286766 | .5200792
Equal variances not assumed| 12.312 2.002 007 4243779 | 0344690 [ 2762144 | 5725414





